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QUESTION 1

Which two scenarios are ideal for deploying Cisco Edge Intelligence? (Choose two )
A. when data needs to be sent to multiple locations

B. when user authentication is implemented centrally

C. when OT Security is implemented centrally

D. when single vendor out of the box edge experience is preferred

E. when policy management is edge enabled

Correct Answer: BC

QUESTION 2

What acts as a gateway between the wireless network and the wired core network?
A. Mesh Point

B. Mesh End

C. Mesh ID

D. End Node

Correct Answer: D

QUESTION 3

How do converged networks provide the most significant impact in a typical manufacturing factory"?
A. reduced downtime

B. plant safety

C. machine safety

D. better fleet operations

Correct Answer: A

QUESTION 4
In which two ways can roadway safety issues be addressed? (Choose two.)

A. dynamic message sign automation
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B. vehicle weight assessment

C. work zone protection

D. workflow automation and enforcement
E. vehicle counting and classification

Correct Answer: CE

QUESTION 5

In which two critical areas does Cisco\\'s advanced roadside intelligence provide incremental value to customers in the
transportation industry? (Choose two )

A. consolidate infrastructure for other public services and commercial companies
B. improved throughput for cellular backhaul

C. improved road user safety

D. dynamic event detection notification and response

E. positioning of vehicle charging stations

Correct Answer: BC
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